RESITVE

MATEMATIKA — DZ, str. 36, 37

1. naloga
4 8 8 = 3 1 3 5 7
0 8 0 7
0 ost. 0 ost.
8 4 8 = 4 8 6 0 3
6 4 6 3
0 ost. 0 ost.
9 0 5 = 3 8 1 9 2
4 0 1 2
0 ost. 0 ost.
4 6 6 = 4 1 1 8 2
0 6 0 2
0 ost. 0 ost.
0 1 7 = 4 3 3 3 6
2 1 1 6
0 ost. 0 ost.




2 2 6 = 8 7 5 = 4
4 2 3
0 ost. ost.
4 7 9 = 8 3 7 = 5
2 7 3
0 ost. ost.
Resitev: VAJA RES DELA MOIJSTRA
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3. naloga
18:2=9 18:3=6 18-9-6=3
Dedku so ostali 3 lesniki.
4. naloga
Predhodnik 258 998 0 759 421 886 988 4
Stevilo 259 999 1 760 422 887 989 5
Naslednik 260 1000 2 761 423 888 990 6




